1290 SUPER DUKE GT OR. ABS 16 <2016><EU><F9903PF>
INSTRUMENTS / LOCK SYSTEM

Pos Part Number Description Additional Text Quantity
1 60414069000 SPEEDOMETER 1.00
2 61314069051 DAMP. COMPONENT SPEEDOMETER 3.00
3 60308045000 SPECIAL WASHER 4.5X16 3.00
4 0081250141 SCREW FOR PLASTIC PT K50X14T25 3.00
5 61414062000 INSTRUMENT HOLDER 1.00
6 0025050166 HH collar screw M5x16 TX30 4.00
7 61411066044 LOCK SET CPL. 1.00
8 61311066100 IGNITION LOCK 1.00
9 61407008000 TANK CAP 1.00
10 61307050000 SEAT LOCK MECHANISM CPL. 1.00
11 61407055000 PILLIONSEATLOCKHOLDER 1.00
13 69007050050 NUT SEAT LOCK M22X1,5 1.00

17327



14 60314069050 Frame cpl. without screen 1.00
15 61307050020 LOCK CYLINDER SEAT LOCK 1.00
16 61414062010 BUSHING 7X5,5X9,3 4.00
17 60035069100 RUBBER GROMMET 6,5X9X13MM 3.00
18 69008021160 special screw M5x12 4.00
19 69008021080 clip nut M5 6.00
20 69014017000 SPECIAL SCREW M6X18 ISA30 08 4.00
21 69014014000 Bushing 6.1X9.2X7.5 08 4.00
22 60006001022 rubber grommet 9x11x16x8.5 mm 4.00
23 60308008057 RUBBER SLEEVE 2.00
24 0081045121 SCREW FOR PLASTIC K45X12 T20 1.00
25 0025080256 HH collar screw M8x25 2.00
26 61414011040 BUSHING 8.2/11/4.75 1.00
27 61414011020 CAP FOR MASK CARRIER 1.00
28 61408008060 LOCKING RAIL 1.00
29 61414011010 COVER FOR MASK CARRIER 1.00
30 61414010000 MASK CARRIER LEFT 1.00
31 61414011000 MASK CARRIER RIGHT 1.00
32 60411067000 KTM ignition key 0.00




